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Al TONG SCHOOL 

2023 

PRELIMINARY EXAMINATION 
PRIMARY6 

MATHEMATICS 
PAPER 1 

(Booklet A) 

DURATION (Booklets A and B) : 1 h 

DATE 21 AUGUST 2023 

INSTRUCTIONS 

1. Do not turn over this page until you are told to do so.
2. Follow all instructions carefully.
3. Answer all questions.
4. Use a 28 pencil to shade your answers in the Optical Answer Sheet (OAS).
5. The use of calculators is NOT allowed.
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Class: Primary 6 _____ _ 
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Paper1 
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SCHOOL 
LEVEL 
SUBJECT 
TERM 

Al TONG PRIMARY SCHOOL 
PRIMARY6 
MATHEMATICS 
2023 PRELIM 

 

PAPER 1 (BOOKLET A) 

PAPER 1 {BOOKLET B) 

016 31.18 

017 205 

018 63° 

019 36cm2 
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250g -100g = 150g 
021 150g 7 50g = 3 

022 

Amount paid = $5 + 3($2) = $11 

LAEB = 70° 

LABE = 180° - 70° - 70° 

= 40° 

LCBE = 90° -40° = 50° 

LBCE = (180° - 50°) 7 2 = 65° 

Percentage present = 100% - 30% = 70% 
023 Total pupils in group = 60 

0.7 x 60 = 42 .-.Thursday 

Pg 1 





ll 

Q6b

07

O8a

O8b

09

010

Percentage of students in Brownies = ! x 30% = 12%

No. of students in Brownies = 

1
�2

0 x 300 = 36

Total volume = 24 x 20 x 14 + 85 x 14 x (42-24) = 28140 cm3 = 28.14 i
Time needed = 28.14 + 2.01 = 14 min

No. of soccer balls added = 40% x 45 = 18
No. of ping pong balls added = 25% x 68 = 17
No. of basketballs added = 80 - 18 - 17 = 45
Percentage increase = �� x 100% = 150% 

Time taken for Farah = 20 + 30 = 40 min
Time taken for Jamil = 40 + 15 = 55 min = �� h

Distance = 42 x �: = 38.5km

LTUV = 180° - 122° 
= 58° 

011 LVUX = 78° 

Ly= 360° - 78° - 58° = 224
° 

2120 - 536 = 1584
! of girls = 9u

012 Total girls = 12u
12u + 4u = 1584
1 LI = 1584 + 16 = 99
5u = 99 X 5 = 495 

Pg 3 



375 - 75 = 300
O13a 24 X 75 = 1800

1800 + 300 = 6

013b 6 x 375 x 2 = 4500 ml 

O14a (180° - go
0) + 2 = 45

° 

LRWX = 180° - go
0 -18° = 72° 

O14b 
LXWU = (180° - 72°) + 2 = 54

° 

Shaded area = big quadrant - unshaded AFBG
Area of big quadrant

1 1 = 
4

rrr2 = 
4 

x 3.14 x (24)2

015 = 452.16 cm2 

Area of AFBG = 24 x 12
= 288 cm2 

Area of shaded part = 452.16 cm2 - 288 cm2 

= 164.16 cm2 

$6120 - $3240 = $2880
016a $2880 + 2 = $1440

$1440 + $3240 = $4680 

$4680 + 4 = $ 1170
Q16b $1440 - $1170 = $270

$270 + 15 = 18

O17a

O17b

Total units = 4 x 3 = 12u
Fraction Ali had in the end = 1

�

Before
A :B·:c :o­

= 1 u : Su : 3u : 3u

After Brandon gave Carrie
A:B:C:D

= 1 u : 4u : 4u : 3u
= 2u : Su : Su : 6u

After Carrie gave Devi
A: B: C D

= 2u : Su : Su - $55 : 9u + $55

9u + $55 = $595
9u = $540
1u = $60
24u = $60 X 24 = $1440

F 

G 

Pg 4




